Odd Ove Out Multiplying Negatives

Work out the answers to each calculation. Colour in the odd one out on each row.

1 —3X6 2 X =9 —1x —18

2 3 X —4 —-12x -1 6 X 2

3 10 X —4 20 X 2 —5x —8

4 (—3)? —3x3 32

5 2X—2X%X—8 —8 X 4 —16 X —2

6 12 X -2 2X—3X%x4 —24 x —1

7 3X-=5X%x-=2 —1X—-6X%X-=5 3x10

8 —32 X =2 (—4)3 2X—4X%X8

9 (—10)2 —4 X (=5)? (—2)% x 25
10 —0.5 x —80 —25%x2x%8 —10 X -1 X —4
11 —1X6X—6 (—3)2 x 4 (—2)? x —9
12 %x—4><—6 —3 x (—2)* —24><—%><—2
13 (—2)* (—4)? x —1 (—2)3 x =2
14 0.9 x (—2)3 —04Xx—-09x—-2|(-3)2x0.2%x—0.4
15 (—5)° x 0.1 —% X (—10)? —5Xx —10 x —0.2




